
Ref. A

Ref. C
Ref. D

Ref. B

MPFI SPACER KIT
FITS 1987-95 FORD BRONCO & 
F150 5.0L & 5.8L V8
2518 TORQUE CURVE MPFI SPACER 
2618 WIDE OPEN MPFI SPACER 
2718 SMOOTH BORE MPFI SPACER

Important! Read all instructions before you begin installation.
PART LIST TOOL LIST

1 - Trans-Dapt Perf. Spacer 2 - Flat Head Bolts 5/16”-18 X 3/4” 1/2” Socket

2 - Gaskets 2 - Linkage Spacers 1” 3/16” Hex Key

4 - Bolts 5/16”-18 X 2 1/4” 6 - Washers Standard Screwdriver

1. Disconnect negative (-) Battery Cable.

2. Remove throttle body intake assembly.

3. Remove (2) bolts & save from linkage bracket. (Ref. C)

4. Remove (4) bolts from the throttle body. (Ref. D)

5. Remove gasket and clean surfaces.

6. Install Spacer using (2) gaskets. (Ref. A)

A.  Place one gasket between the throttle body (Ref. B) and Trans-Dapt Spacer (Ref. A).

B.  Place second gasket between Trans-Dapt Spacer and intake manifold.

7. Replace (4) bolts using Step 4 as an example.

8. Locate and install (2) linkage plates using (2) flat head screws. (Ref. C)

9. Reinstall linkage bracket using saved bolts. Refer to Step 3

10. Inspect & Test throttle linkage for full open and closed travel before driving.  Some cruise or kickdown
cables may require adjustment.  Please refer to your vehicles service manual for proper adjusting.

11. Reinstall throttle body intake assembly. Refer to Step 2.

12. Reconnect the battery cable.

13. Inspect the engine compartment for loose tools.  ALWAYS replace old, dried, cracked and/or worned out hoses.
Check for fan and hood clearance before starting the engine.

INSTALLATION INSTRUCTIONS

DAPTDAPTDAPT
PERFORMANCE PRODUCTS

Ref. A- Trans-Dapt 
Throttle Body 

Ref. B- Throttle 
Body

Ref. C- (2) 1” Linkage 
spacer plates, (2) flat head 
screws

Ref. D- (4) 5/16” - 18 X 
2 ½” Bolts (4) 5/16” 
Washers 

http://www.carid.com/trans-dapt/
http://www.carid.com/engine-components.html

	Page 1

